

$$\gamma \text{ diff at } o \Leftrightarrow \forall \epsilon \in \mathbb{R}^+ : \frac{|\gamma(o+L) - \gamma(o) - L \gamma'(o)|}{|L|^n} \approx 0$$

$$\forall \epsilon > 0 \exists \delta > 0 \forall L \in \mathbb{R}^n \wedge |L| < \delta \Rightarrow |\gamma(o+L) - \gamma(o) - L \gamma'(o)| \leq |L|^n \epsilon$$

$$\gamma'(o) = \frac{\gamma(o+L) - \gamma(o) - L \gamma'(o)}{|L|^n}$$

$$\gamma'(h) = \frac{\gamma(h) - \gamma(o) - (h-o) \gamma'(o)}{|h-o|^n}$$

$\gamma \text{ diff at } o \Rightarrow \gamma \text{ stet at } o$

$$\gamma(h) - \gamma(o) = \underbrace{(h-o)}_{\approx 0} \gamma'(o) + \underbrace{|h-o|^n}_{\approx 0} \gamma'(h) \approx 0$$

$$|\gamma(o+L) - \gamma(o)| \leq |L|^n \underbrace{|\gamma'(o)| + \epsilon}$$

$$\begin{array}{ccc}
 \mathfrak{h} & \xrightarrow[\text{diff at } o]{\gamma} & \mathfrak{h} & \xrightarrow[\text{diff at } {}^o\gamma]{\gamma} & \mathfrak{h} \\
 & \searrow & & & \nearrow \\
 & & \text{diff at } o & & \\
 & & \gamma\gamma & & \\
 & & \underline{{}^o\gamma\gamma} = \underline{{}^o\gamma} \underline{{}^o\gamma} & &
 \end{array}$$

$$x\gamma - {}^o\gamma = \underline{x - o} \underline{{}^o\gamma} + \overline{\overline{x - o}} \underline{{}^o\gamma}$$

$$y\gamma - {}^o\gamma = \underline{y - {}^o\gamma} \underline{{}^o\gamma} + \overline{\overline{y - {}^o\gamma}} \underline{{}^o\gamma}$$

$$x\gamma\gamma - {}^o\gamma\gamma = \underline{x\gamma - {}^o\gamma} \underline{{}^o\gamma\gamma} + \overline{\overline{x\gamma - {}^o\gamma}} \underline{{}^o\gamma\gamma}$$

$$= \underline{\underline{x - o} \underline{{}^o\gamma} + \overline{\overline{x - o}} \underline{{}^o\gamma}} \underline{{}^o\gamma\gamma} + \overline{\overline{x\gamma - {}^o\gamma}} \underline{{}^o\gamma\gamma}$$

$$= \underline{x - o} \underline{{}^o\gamma} \underline{{}^o\gamma\gamma} + \overline{\overline{x - o}} \underline{{}^o\gamma} \underline{{}^o\gamma\gamma} + \overline{\overline{x\gamma - {}^o\gamma}} \underline{{}^o\gamma\gamma}$$

$$\Rightarrow \overline{\overline{x - o}} \underline{{}^o\gamma\gamma} = \overline{\overline{x - o}} \underline{{}^o\gamma} \underline{{}^o\gamma\gamma} + \overline{\overline{x\gamma - {}^o\gamma}} \underline{{}^o\gamma\gamma} = \overline{\overline{x - o}} \underline{{}^o\gamma} \underline{{}^o\gamma\gamma} + \overline{\underline{x - o} \underline{{}^o\gamma} + \overline{\overline{x - o}} \underline{{}^o\gamma}} \underline{{}^o\gamma\gamma}$$

$$\Rightarrow \underline{x\gamma\gamma} = \underline{{}^o\gamma} \underline{{}^o\gamma\gamma} + \overline{\overline{\underline{x - o} \underline{{}^o\gamma} + \underline{{}^o\gamma}}} \underline{{}^o\gamma\gamma}$$

$$\|\underline{\underline{\quad}}\| \leq \left(1 \wedge \underline{{}^o\gamma}(\varepsilon)\right) \wedge \frac{\underline{{}^o\gamma}(\varepsilon)}{1 + \overline{\overline{{}^o\gamma}}}$$

$$\Rightarrow \overline{\overline{{}^o + L \underline{{}^o\gamma} - {}^o\gamma}} \leq \|\underline{\underline{\quad}}\| \leq \underbrace{\|\underline{\underline{\quad}}\|}_{1 \wedge \varepsilon} + \overline{\overline{{}^o\gamma}} \leq \|\underline{\underline{\quad}}\| \leq \underline{{}^o\gamma}(\varepsilon)$$

$$\Rightarrow \overline{\overline{{}^o + L \underline{\underline{\gamma\gamma}} - \underline{{}^o\gamma\gamma} - L \underline{{}^o\gamma} \underline{{}^o\gamma\gamma}}} = \overline{\overline{{}^o + L \underline{\gamma} - \underline{{}^o\gamma} - L \underline{{}^o\gamma} \underline{{}^o\gamma}}}$$

$$\leq \overline{\overline{{}^o + L \underline{\gamma} - \underline{{}^o\gamma} - \underline{{}^o + L \underline{{}^o\gamma} - \underline{{}^o\gamma}} \underline{{}^o\gamma\gamma}}} + \overline{\overline{{}^o + L \underline{{}^o\gamma} - \underline{{}^o\gamma}} \underline{{}^o\gamma} - L \underline{{}^o\gamma} \underline{{}^o\gamma\gamma}}$$

$$\leq \varepsilon \overline{\overline{{}^o + L \underline{\gamma} - \underline{{}^o\gamma}}} + \overline{\overline{{}^o + L \underline{\gamma} - \underline{{}^o\gamma} - L \underline{{}^o\gamma} \underline{{}^o\gamma\gamma}}} \leq \varepsilon \underbrace{1 + \overline{\overline{{}^o\gamma}}}_{\|\underline{\underline{\quad}}\|} + \varepsilon \|\underline{\underline{\quad}}\| \underline{{}^o\gamma\gamma} = \varepsilon \underbrace{1 + \overline{\overline{{}^o\gamma}} + \underline{{}^o\gamma\gamma}}_{\|\underline{\underline{\quad}}\|} \|\underline{\underline{\quad}}\|$$